Quiz #2 EEC116 Fall 2011

Name: Selutions Lab Section:

For all transistors: Ly, = 1 ptm, Wi, = 1 um, Vi, = -1V, 1,Cox = (1/6) x 107 A/V?, Ay =
0.0V, V=1V, 1,Coy = (1/2) X 107 A/V? Ry = 0.0V

Problem 1 (5 points) Design a four-input static CMOS logic gate which implements the
Boolean expression F=A4eBeC+D. Clearly label all inputs, outputs, and power supply
connections. Pick sizes for the transistors such that the worst case rise and fall times of

the output are equal to a minimum-sized inverter.

Problem 2 (5 points) A step input is applied at time t=0 to the loaded inverter with
dimensions and initial conditions as shown below. What is the current I, immediately
after the step is applied?
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